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SECTION A (W@us 3)

1 (a) Explain the rules of obversion. (5) 7

wiadw 2 Fadl & =z #if
OR (31%1aT)

How are propositions classified on the basis of

quantity and quality ? Discuss. {5)

yftamn A M H SR W HfeAdl e e i
ﬁ?ﬁ??wml

tb) Reduce the foltlowing proposition into their logical

form. (%)
Fasforfign ol @1 Afee & At
(i) Not all girls are beautitul.
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(ii) Few men are happy.
C AR & e ‘giéﬁ T g

(iii) Metals are always solid.
oy T B AR ¥

(iv) Few plants are medicated.
3R ¥ W a?rcriﬁgaﬂ P

(v) Only law can give us justice. -
el @eE B e 2w 2

OR (areran)

If “No scientists are philosophers’ is given as true,
what can be inferred about the truth or falsity of |,
the following.

R W AT R T 2 T 2 O PR
T & A @ e & v A e

(i) No philosophers are nori-scigntists.

#§ e - 3afE T8 2

(i) No non-scientists are non-philosophers.

aﬁ}%-ar—'amﬁa: F-griE A B
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2. (a) Test the validity/invalidity of the following :
frafafem & dvm/s@um & o9 @i
(i) EAL -2
(i) All. 4 (5)
OR (37eran)

“In a vahd syliogism the middle term must be

distributed in at least one premise.” Explain.

‘v Ay ww gl W, WMo v wW Od R Ua
FUREF A A A e | aner S

{b) Writc u short note on any once of the following :
Fefafaa & @ GG ve w afaa ok firfen

(1) Existential ITmport
TS el
(i) Traditional square of opposition of proposition

()
UERATE G fawr - @

SECTION B (@uz &)

b, (a) Determine the validity/invalidity of any two of the

foltowing by reductio ad absurdum method
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mmymhﬁﬁmﬁnﬁﬁqaﬁ%%ﬁa’taﬁ.
%ﬂm/%%tmﬁaaﬁm:
@ pv~q '_

pq /. ~(p>q)

() {(~pva)o~q]>[(p2g)>r]

(i) pogq
. qor /o~pvr (4,4)
t (b) Define ‘pvq’ in terms of *~* and “*. = (2)

‘pvq W~ IR A wRewm #if

4. Use truth table method to determine the logical status

of any two of the following statement forms : |
Prefafer et omeR ¥ ¥ Bl @ R afis RaR
wah B e e Wfw:

@ p-(~qvD] = [(~p- 9 v (p 1)

@) [(pvayvrl = (poq)>r

(ii) [(~p>~q) 2~} ~rv(p-q) (5,9)

5. (a) Symbolise the following propositions into the logical -
notations of propositional functions and quantifiers :

(any two)

:' o - P.T.O.
|
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frfafir agfarRll & asfaremas Ol § aitaoE
Ay Aifew . (R |)

(1) Alumnis are invited. (Ax, [x)
WA G FEEE R (Ax, Ix)
(ii} Saints are never corrupt. (Sx, €x)
w9 FN W e A A (Sx Ox)
(i) Not all roses are red. (Rx, Sx)
T TEm AR AE B ¥ (Rx, Sx)
{iv} Artists are usually rich. (Ax, Rx) {4)
HAFH WA uR TR F | (Ax, Rx)
(b) Define each of the following into stroke function.
frafafen #: T ar ¥ ofwfe i
i (p2q)vp

(iiy ~-p2(qg-r) (3.3)

Construct a formal proof of validity for any two of
the following arguments.

fFfoia & 3 fdt @t 1 sTeom W wEa @ifg
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@ (N>0) - (P5Q)
(RDS) - (S2T)
"NvR /. OvS

(i) A>~B _
~A > (C D ~B)
(~-Dv~C)>~~B
~D /. ~C
ﬁﬁPLQ
(Pi- Q) >R
(P> R)>~§
SvTt /.. T . (5%2)

SECTION C (@vE 9)

. 7. {(a) Write short notes on any two of the following:
frafof sl @ w afta Rwifvel R
o) ‘C‘omjalex Question
ELER L]
(ii) Fallacy of composition
(iii) IArgumcnt from Ignorance. (5,5)

I A P.T.O.
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(b} Identity and explain the fallacy committed in the

following example.

All of us cannot be famous because all of us are

not well known, ()

R s

' 49 @ 39 B g i w oqe wigg a9 ¥

(700)****




